DCD9O96 CORDLESS DRI LL 18V LI-ION 1




Item Part Number

1 N484226
2 N146719
3 N316079
4 N149367
5 N269741
6 N481785
7 N481813
8 N165352
9 N161216
10 N443281
11 N359062
12 N454251
13 N470351

14 652378-00
15 N375852
16  N375864
17 654110-00

18  N481809
19 N375865
20 N481798
21 N375867
22 N375868
23 NO71836
24 N392855
25  N309119
26 N281559
30 N393603
31 N419324
32 NO014681
34 N481825
35 N439418
36 N431555

37 330019-52

Qty Part Description

1
1
1

Parts List DCD996 CORDLESS DRILL 18V LI-ION 1

General Description
GEARCASE SA
LEVER

SPRING

GEAR

WASHER SPRING
SPINDLE SA
SENSOR
DETENT

END CAP
COLLAR

SCREW M3 X 12
CHUCK KEYLESS
GEARBOX SA
PLATE

LOCKING RING
GEAR

ROLLER

ANVIL

GEAR SA

GEAR SA

SLIDER SA
BAFFLE SA
ROLL PIN
DETENT

O RING 10.82 ID - 1.78 DIA
SCREW T10 - M3 THD FORM
SELECTOR SPEED
CLAMSHELL SA
LEAF SPRING

MOTOR & SWITCH SA
LABEL LED
ACTUATOR FWD/REV
SCREW.SPECIAL T15-M3.5X 19

Page 1

Other Info

Repair Inst

Markets



Parts List DCD996 CORDLESS DRILL 18V LI-ION 1

Item Part Number Qty Part Description General Description Other Info  Repair Inst Markets
38 682211-00 8 SCREW No

39  NO086039 1 HOOK No

40  N042665 2 SCREW M3X 10 No

41  N095778 1 HOLDER BIT No

42 N237999 1 LABEL 18V No

43 N720396 1 RATING PLATE EURO No QW
44 N433408 1 SIDE HANDLE No

45  N317859 1 LABEL BRUSHLESS No

800 NO017298 1 GREASE 150 GMS G-2008 Molykote No

836 596004-99 1 S.T.INSERT No

836 559661-99 1 S.T.CHUCK REMOVAL JIG No

837 N354959 1 SERVICE TOOL DIAGNOSTICS No

860 H1400196008 2 HANDLE No

861 N279261 1 KITBOX DWST1-17807 T-STAK11 DCD996T1- No

861 N506511 1 KITBOX T-STAK B%_§996M1— No

861 N312359 1 KITBOX T-STAK M2 No

862 HI1500082520 2 LATCH No

863 P910190 2 LATCH No

864 NS530863 1 INSERT KITBOX DCD996T1- No

866 N195933 1 BATTERY 18V - 4.0AH - 72WH Li-Ion - DCB182-XJ BE§996M1—N0 QW
866 N473851 1 BATTERY 3 X18V-6.0AH-108WH Li-Ion - DCB546-XJ B%D996T1— No QW
866 N491552 1 BATTERY 3 X18V-9.0AH-162WH DCB547-X] B%D996X No QW
871 N473860 1 CHARGER QW DCB118-QW DCD996T1- No QW

T2-X

Page 2



